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Estimating the Median from Grouped Data

To estimate the Median, let’'s look at our data again:

The median is the mean of the middle two numbers (the 10t and 11t values) ...

... and they are both in the 11 - 15 group:

We can say "the median group is 11 - 15"

But if we need to estimate a single Median value we can use this formula:

(n/2) - cfyp
Estimated Median =L+ ———— xw
m

where:

« Lis the lower class boundary of the group containing the median

« nis the total number of data
« cfy is the cumulative frequency of the groups before the median group
* fun s the frequency of the median group

« wis the group width

Data Inde:
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But if we need to estimate a single Median value we can use this formula:

Data Index
(n/2) - cfyp
Estimated Median = L + —
where:
« Lis the lower class boundary of the group containing the median
« nis the total number of data
« cfyy is the cumulative frequency of the groups before the median group
* fm s the frequency of the median group I
+ wis the group width
For our example:
e L=11
e n=20
o cfy=2+7=
¢ fm=8
cw=5
(20/2) -9
Estimated Median = 11 + ———— x5

=11 +(1/8) x5
=11.625

Estimating the Mode from Grouped Data

Again, looking at our data:





